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19H 64 0000 [#EHEhT | — [EHENWT | — 18 18 0.000 24 0.019 25 0.008 18 1.8 0.000 19 0.015 22 0.007 |/ 18 |B&HEhd | — 18 0001 |#HZIhd | —
208 66 0000 |BHEhT | — |\wHEhT| — 2H 14 0.000 17 0.013 16 0.005 28 |®EEhY| — 8.6 0.007 12 0.004 28 |®shy| — 4.3 0.003 3 0001 |/
218| 7,206 0.005 731 0.567 785 0.263 |/ 3H 12 0.000 15 0.012 12 0.004 38 |[\HEhY | — |BRHShT| — |[BRHShT| — 3B |®ESnY | — |[‘®EShY| — |[#®HEShT| — |®
228| 22,159 0.014 1,556 1.206 1,560 0523 |/ 48 16 0.000 14 0.011 18 0.006 4H 13 0.000 71 0.055 67 0022 |’ 48 [BHENT | — |BRHShY| — |[BgRHShT| —
23| 22,014 0.014 313 0.243 316 0.106 |/ 5H 12 0.000 14 0.011 16 0.005 58 [\HEhY| — |BHEShYT| — [B&RHShT| — 58 [RHEINhY| — |BHESAT| — |[B&RHShT| —
248| 15781 0.010 157 0.122 177 0059 |M| |eB 5.3 0.000 7.9 0.006 11 0.004 68 |[BHINT| — 17 0.013 21 0.007 68 [BRHENT| — |BRHESKT| — [BHShT| — |&
25H 155 0.000 12 0.009 17 0.006 7H 5.4 0.000 11 0.009 12 0.004 7H |[BRHEhY | — |[B®EShT| — |[#&HEShT — 7H |BRHEhY | — |[B®HEShT| — |[&HEShT —
26H 91 0.000 14 0.011 16 0.005 8H 8.1 0.000 11 0.009 13 0.004 88 |#®ishy| — 23 0.018 18 0006 |f 88 |#®ishY | — [|BHEShYT| — |BHEShT| — |®
27H 57 0.000 14 0.011 16 0.005 9H 12 0.000 27 0.021 25 0.008 98 |BHEhY | — |B|HEShY| — 25 0.001 98 |BHEEhY| — [BHEShT| — |[BHEShT | —
28H 59 0.000 12 0.009 13 0.004 106 16 0.000 31 0.024 30 0010 || [10B|BHEhT| — 25 0.002 3.3 0.001 108 |#&HEhT | — 2.7 0002 |BHEhd | — |E
298 34 0.000 12 0.009 13 0.004 116 3.9 0.000 11 0.009 12 0.004 NE|&HShT | — 17 0.013 11 0.004 ME|REShT| — |#BHShT| — [#BHShdy — |&
308 32 0.000 13 0.010 13 0.004 128 25 0.000 109 0.084 107 0036 [M| [12B|@&HShY| — |BHESKhY| — |[BHShT| — RA|KREINT | — |BEShT| — |BRESHhT| — |
318 270 0.000 258 0.200 260 0.087 |/| [138 3.2 0.000 5 0.004 6 0.002 1BE|&HENT | — 24 0019 |#WHEShd | — [|&| [138|#®EShT| — |B®HEShT| — |BREShT| — |®
148 |#itsnd| — 7 0.005 79 0.003 HE|H®EShT | — |#&EShT| — [|[&EShd — |§\| |[48|REShT| — |[HRdEshT| — |[#H&EShT —
I5H|EHIhT | — 6 0.005 6.9 0.002 I5H|#®EENT | — [B\HEShT| — [BEHEIhT| — I5H|#&EENT | — [&HEShT| — [BEHEIhT| —
168 |&HEnd | — 8.9 0.007 9.9 0.003 168 |&HEnd | — 3.6 0003 [#&HEhT | — 168 |&HEhd | — [\HEShY | — [#&HShY| —
178 |&HENnT | — 12 0.009 12 0.004 178|#&EENhT | — 3.0 0.002 2.8 0.001 17R|&HENT | — [EHEhY| — 33 0.011
180 5.6 0000 [#&HEhT | — |BEHSKATK — 18| &HENnT | — 8.5 0.007 8.1 0003 [fE| [|18B|®REINT| — [HEShT| — |BEShT — |&
198 368 0.000 169 0.131 137 0046 || [19B|&HEShY| — [|#®HESKAYT| — |[BHShTK — 9 |&EHENT | — [BHShY| — |[#giEShY — |W
20H 14 0.000 29 0.022 44 0015 |M| [20B|@&HShY| — |BHESKhYT| — |[BHShT| — 20H|BHEEINYT | — |[BHEShT| — |BHEhT | —
21H 3.4 0.000 8.9 0007 |#HEINhT| — 208|BEEIhY | — |[BHShT| — 2.2 0.001 208|RESNT | — [RHESIT| — |BRHESKhT| — |W
28 |®ishd| — [&RHShY| — 10 0.003 28|@BHENY | — |BHShY| — |[BHShT| — 28 |@BHENY | — |BHEShY| — |[BHShT| — |®
23H|EhY| — 32 0.025 32 0011 [’E| |28B|#®HENhY| — [&HEEShT| — 77 0.026 2BBR|EHENT | — |[BHESKhY| — |[BHShT| — |®
4B |BHENT| — 28 0.022 35 0012 M| |[24B|#&HEShY| — [|BHESKhT| — |[BHEShT| — |§| |#4B|#gEShYT — [BHEEShT| — |[BHEhT | —
25H| SN Y | — 18 0.014 20 0.007 BH|EHINAT | — |[BHEEShT| — |B&HEEShT| — M| |28B|&EEShT | — |BHEhT| — [#\HEShT| —
26H 33 0.000 25 0.019 29 0010 |F| |[26B|#&EShT| — 2.6 0002 |#HZhT | — 6B |EHENY | — |BHESKhY| — [BHShT| — |W
27H|®EhY| — 6.5 0005 |#HZIhT | — 27H|#®EEhY| — 15 0.012 10 0003 |F| |[27B|#®EShT| — 2.6 0.002 25 0001 |/
28B | EHENT| — 21 0.016 23 0008 [M| |[28B|®HINT| — |BRHESIKhT| — |[BEShT| — |E| |288|#EIhT| — [BHIhT| — |BHIKT| — |W
29H| SN Y| — 5.1 0.004 6.4 0.002 9H|BEHINT | — |BHEESKhT| — |BHEShT| — |M| |9B8[|&EEShT| — |BHShT| — [#\HEEShT| —
VB |HEHEINT | — |BRHEESKhY| — |[#gHShT| — A|RESNT| — [BHShT| — |[BRESKhT| — |@| [0B|#&HHEShT| — |[BRESKhT| — [BHEShT| —
SIH|BEENY | — |[BHEIhT| — 2.2 0.001




